(017222 @»»» 00000000 Support Units 0000 Flexible Support

0
NG T I
i Li 2-¢S1% UL T
¢ S2BE 27 1) S Ho (A b S) CAiRAY)
N
IR T :
I i MA:I! ; L
CIELE O
CalRAT)
\\Y%
L
O0OFHOOOOOOO BT o mm
ooo 0000000000000 00O0O00000DOOOO0 00 |00000 il
holes| diwr | do | H |Hy | L |€ 20| Li [ W | S | S, | S, | H, DkgD 0ooooooo
FH6 1317 6|25|20| 42| 30 | 18| 12 | M5 | 55| 95| 11 |0.07| 60622 SUH6
FH8 17 17 6|32 26 52| 38 25 15 | M6 6.6 |11 12 | 0.15 60677 SUH8
FH10 | 25 | 22| 8|43 (35| 70| 52 | 36|20 | M8 | 9 |14 | 11 |040| 6082z SUH10
FH12 | 25 |26 |10 |43 [35| 70| 52 |36 | 20 | M8 | 9 |14 | 11 |0.35| 6000ZZ SUH12
FH15 | 30 |32 15|50 |40 | 80| 60 | 41 | 20 | M8 | 9 |14 | 11 |045| 60022z SUH15
FH20 | 30 |47 |20 |58 |45 | 95| 75 | 56 | 26 |M10|11 |17 | 15 |0.80| 62042z SUH20
FH25 | 35 | 52| 25|68 |25 |105| 8 |66 | 30 |[MIO|11 | 0 | O |090| 620522 SUH25

424



